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100 Questions

Que. 1 The following question contains a sentence with one blank only. Below are given three words as
answer choices. You have to choose an option with choices which can make the sentence complete. 

We are now at a stage where we need a major _______ of our lifestyles and patterns of consumption.

A. overhaul
B. shopping
C. remodelling

Correct Option - 2

B and C1.
A and C2.
Only A3.
Only B4.
Only C5.

Que. 2 The following question contains a sentence with one blank only. Below are given three words as
answer choices. You have to choose an option with choices which can make the sentence complete. 

Governments want to move civil servants out of national capitals to _______ cities, save money and curb the
regional inequality.

A. burden
B. disencumber
C. unclog

Correct Option - 1

B and C1.
A and C2.
Only A3.
Only C4.
Only B5.

Que. 3 The following question contains a sentence with one blank only. Below are given three words as
answer choices. You have to choose an option with choices which can make the sentence complete. 

The Arctic is melting rapidly and the tenor of the recent discussions among Arctic countries suggests an even
_______ situation.

A. woeful
B. enervating
C. lamentable

B and C1.



Correct Option - 2

A and C2.
Only A3.
Only C4.
Only B5.

Que. 4 The following question contains a sentence with one blank only. Below are given three words as
answer choices. You have to choose an option with choices which can make the sentence complete. 

In past eras, when information travelled at a _______ pace, civil servants had to cluster together.

A. snail’s
B. sluggish
C. ant’s

Correct Option - 2

B and C1.
A and B2.
A and C3.
Only A4.
Only B5.

Que. 5 In each question, one sentence is given. In each sentence, certain words are in bold and numbered
from A to D. Below the sentences are given five options with possible pairs of interchange of

those bold words. Choose the pair(s) of words that need to be interchanged to make the sentence
grammatically correct and meaningful.
The Silk Road not only (A)credited as a major trade route (B)from India and China but is also (C)served
for facilitating the spread of Buddhism (D)between India to East Asia.

Correct Option - 4

A-B1.
A-D2.
B-C3.
A-C, B-D4.
A-D, B-C5.

Que. 6 In each question, one sentence is given. In each sentence, certain words are in bold and numbered
from A to D. Below the sentences are given five options with possible pairs of interchange of

those bold words. Choose the pair(s) of words which need to be interchanged to make the sentence
grammatically correct and meaningful.
Women (A)access the bulk of food in Africa, and (B)such they are largely locked out of land
ownership, (C)produce to credit, and productive farm inputs (d)yet as fertilizers, pesticides, and farming tools.  

A-B1.
B-C2.



Correct Option - 5

A-D3.
A-B, C-D4.
B-D, A-C5.

Que. 7 In each question, one sentence is given. In each sentence, certain words are in bold and numbered
from A to D. Below the sentences are given five options with possible pairs of interchange of

those bold words. Choose the pair(s) of words which need to be interchanged to make the sentence
grammatically correct and meaningful.
The (A)talks last week of Sri Lanka’s new President Gotabaya Rajapaksa to India and his extended (B)visit with
Prime Minister Narendra Modi was an (C)bilateral by the two nations to make good (D)affirmation ties a
priority for each.

Correct Option - 4

A-C1.
A-D2.
B-D3.
A-B,C-D4.
A-B, B-C5.

Que. 8 In the following sentence, four words are given in bold out of which one word is misspelt. Find
the misspelt word.

Interestingly (a), when these expectations (b) make agents coordinate into another equillibrium (c) path,
temporary shocks have permanent effects and cause hysteresis (d).

Correct Option - 3

a1.
b2.
c3.
d4.
None 5.

Que. 9 In the following sentence, four words are given in bold out of which one word is misspelt. Find the
misspelt word

The series (a) focuses on understanding the political (a) economic, and social (c) forces shaping parts of the
world that are in crisises (d).

Correct Option - 4

a1.
b2.
c3.
d4.
None5.



Que. 10 In the following sentence, four words are given in bold out of which one word is incorrectly spelt.
Find the incorrectly spelt word.

The show often has a little segment (a) on the history of whatevar (b) pile of carbohydrates (c) the contestants
(d) have to construct.

Correct Option - 2

a1.
b2.
c3.
d4.
None of the above.5.

Que. 11 In the following sentence, four words are given in bold out of which one word is incorrectly spelt.
Find the incorrectly spelt word.

The logic, according (a) to the staffer who drafted the provision (b), was that the education (c) should be good
enouf (d) that at least some students are willing to pay.

Correct Option - 4

a1.
b2.
c3.
d4.
No error5.

Que. 12 In the following sentence, four words are given in bold out of which one word is misspelt. Find
the misspelt word and mark the answer accordingly.

The evidense (a) suggests that unclear wording can be dangerous(b) or at best make the treatment(c) less
effective(d).

Correct Option - 1

a1.
b2.
c3.
d4.
None5.

Que. 13 In the following question, one part of the sentence has an error. Read the sentence to find the
error and mark the corresponding option. If the sentence has no error choose option 5 ‘No error’

as your answer.
Under the smart city umbrella, (1)/ Dubai has also been (2)/ investing heavy in (3)/ technology-based
healthcare. (4)/ No error(5)

11.



Correct Option - 3

22.
33.
44.
55.

Que. 14 Read the sentence to find out if there is any error in it. The error if any, will be in one part of the
sentence. The number of that part will be the answer. If there is no error, then the answer is (5).

Ignore error of punctuations if any.
Chandler look at Monica (1)/ and instantly felt a tug (2)/ in his heart that he (3)/ knew was love. (4)/ No Error (5)

Correct Option - 1

11.
22.
33.
44.
55.

Que. 15 In the following question, one part of the sentence has an error. Read the sentence to find the
error and mark the corresponding option. If the sentence has no error choose option 5 ‘No error’

as your answer.
In 2014, India's current Prime Minister Narendra Modi (1)/ had come to power promising a tough (2)/ line on
Pakistan, but also showed (3)/ interest in holding peace talks.(4)/ No error(5)

Correct Option - 2

11.
22.
33.
44.
55.

Que. 16 In the given question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If a sentence is free from error, select 'No

Error'.
We shall meet (A) again as usually (B) at 5 pm to discuss (C) our newly planned business. (D) No error (E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.



Que. 17 In the given question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If a sentence is free from error, select 'No

Error'.
No sooner had (A) I walked through (B) the door then (C) the phone rang. (D) No error (E)

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 18 In the given question, a passage with seven blanks labeled (A) – (G) is given. You are required to
fill the correct word in the blanks.

If there was such a thing as a perfect food, eggs would be a ___(A)___. They’re readily available, easy to cook,
affordable and packed with protein. Eating eggs alongside other food can help our bodies ___(B)___ more
vitamins, too. For example, one study found that adding an egg to salad can increase how much vitamin E we get
from the salad. 
But for decades, eating eggs has also been ___(C)___ due to their high cholesterol content – which some studies
have linked to an increased risk of heart disease. One egg yolk ___(D)___  around 185 milligrams of cholesterol,
which is more than half of the 300mg daily amount of cholesterol that the US dietary guidelines ___(E)___ until
recently.  
Does that mean eggs, rather than being an ideal food, might actually be doing us ___(F)___? Cholesterol, a
yellowish fat produced in our liver and intestines, can be found in every one of our body’s cells. We normally
think of it as “bad”. But cholesterol is a ___(G)___ building block in our cell membranes. It also is needed for
the body to make vitamin D, and the hormones testosterone and oestrogen. 

Which of the following fits the blank labeled (A)?

Correct Option - 3

Divider1.
Initiator2.
Contender3.
Campaigner4.
None of the Above5.

Que. 19 Which of the following fits the blank labeled (B)?

Distend1.
Absorb2.
Distill3.
Append4.
None of the Above5.



Correct Option - 2

Que. 20 Which of the following fits the blank labeled (D)?

Correct Option - 4

Discharges1.
Disposes2.
Effects3.
Contains4.
None of the Above5.

Que. 21 Which of the following fits the blank labeled (E)?

Correct Option - 1

Recommended1.
Effected2.
Instructed3.
Affected4.
None of the Above5.

Que. 22 Which of the following fits the blank labeled (F)?

Correct Option - 3

Favours1.
Impulses2.
Harm3.
Damages4.
None of the Above5.

Que. 23 Which of the following fits the blank labeled (G)?

Correct Option - 1

Crucial1.
Suspended2.
Expectant3.
Subsidiary4.
None of the Above5.

Que. 24 Read the given passage and answer the following questions:
At the turn of the 20th century, it is estimated that India probably had many thousands of tigers in the

wild.



The Wildlife Institute of India (WII) and the National Tiger Conservation Authority (NTCA), Government of
India, have been conducting tiger estimation surveys in partnership with NGOs. WWF-India was the key NGO
partner of the WII and NTCA in conducting the comprehensive country-wide tiger estimation exercise in 2010-
11, which revealed a mean tiger population estimate of 1,706.
Based on a census using the pug mark technique, the number of tigers in 2002 stood at 3,642. As per the 2014
tiger estimation exercise conducted by WII in association with the NTCA using camera traps, there were only
2,226 tigers left in the wild in India.
The tiger is not just a charismatic species or just another wild animal living in some far away forest. The tiger is a
unique animal which plays a massive role in the health and diversity of an ecosystem. It is a top _______ which
is at the apex of the food chain and keeps the population of wild hoofed mammals in check, thereby maintaining
the balance between prey herbivores and the vegetation upon which they feed. Therefore, the presence of tigers
in the forest is an indicator of the well being of the ecosystem. The extinction of this top predator is an indication
that its ecosystem is vulnerable, and would not exist for long thereafter. If the tigers go extinct, it would bring
down the entire system. For e.g. when the Dodos went extinct in Mauritius, one species of Acacia tree stopped
regenerating completely. So when a species goes extinct, it leaves behind a scar, which affects the entire
ecosystem. Another reason why we need to save the tiger is that our forests are water catchment areas. 
Therefore, it’s not just about saving a beautiful animal. It is about making sure that we live a little longer as the
forests are known to provide ecological services like clean air, water, pollination, temperature regulation etc.

Which of the following is TRUE according to the passage?
(A) The number of tigers in India has decreased since 2002.
(B) When the Dodos went extinct, one species of Acacia tree stopped regenerating.
(C) The entire ecosystem is affected by the extinction of one species.

Correct Option - 4

Only (A)1.
Only (B)2.
(A) and (B)3.
(A), (B) and (C)4.
Only (C)5.

Que. 25 Choose the most appropriate word to be filled in the blank.
"It is a top _______ which is at the apex of the food chain"

Correct Option - 3

Creature1.
Animal2.
Predator3.
Herbivore4.
None of these5.

Que. 26 Which of the following is NOT TRUE according to the passage?
(A) The tiger is not a charismatic species.

(B) The presence of tigers in the forest is an indicator of the well being of the ecosystem.
(C) The tiger maintains the balance between prey herbivores and the vegetation upon which they feed.



Correct Option - 1

Only (A)1.
Only (B)2.
Only (C)3.
(A) and (B)4.
None of these.5.

Que. 27 What is the difference between the census conducted in 2002 and the estimation exercise conducted in
2014?

Correct Option - 1

Technique used for counting the number of tigers.1.
Region covered for the census2.
Species of tiger3.
None of the above4.
All of the above5.

Que. 28 Which of the following words is opposite in meaning to the word 'massive' ?

Correct Option - 5

Hefty1.
Lumpish2.
Ponderous3.
substantial4.
Flimsy5.

Que. 29 Which of the following is closest in meaning to the word 'vulnerable'?

Correct Option - 2

Guarded1.
Unsafe2.
Invincible3.
Fortified4.
Sheltered5.

Que. 30 Which of the following is closest in meaning to the phrase 'to bring down'?

To encourage1.
To elevate2.
To cause to fall by3.
To raise4.



Correct Option - 3

To lighten5.

Que. 31 Direction: Read the information carefully and answer the questions that follow.
There are eight people A, B, C, D, E, F, G, and H, traveling in different months of the year. The months

are given as January, March, April, June, August, September, November and December. F travels in the months
having 31 days. There is a difference of three months between the months in which F and C travel according to
the calendar. B travels immediately before F. A travels after H but not in the month of August. H travels in the
month having 31 days. H is not traveling in March or August. The number of people traveling between A and F is
the same as the number of people traveling between D and F. G travels exactly after E. D travels in December. 

In which month is C traveling?

Correct Option - 2

March1.
April2.
November3.
December4.
June5.

Que. 32 Direction: Read the information carefully and answer the questions that follow.
There are eight people A, B, C, D, E, F, G, and H, traveling in different months of the year. The months

are given as January, March, April, June, August, September, November and December. F travels in the months
having 31 days. There is a gap of three months between the months in which F and C travel according to the
calendar. B travels immediately before F. A travels after H but not in the month of August. H travels in the month
having 31 days. H is not traveling in March or August. The number of people traveling between A and F is the
same as the number of people traveling between D and F. G travels exactly after E. D travels in December. 

Which of the following statement is true?

Correct Option - 2

B - 31- March1.
E - 30 - September2.
G - 31- December3.
E - 30 - August4.
A - 30 - June5.

Que. 33 Direction: Read the information carefully and answer the questions that follow.
There are eight people A, B, C, D, E, F, G, and H, traveling in different months of the year. The months

are given as January, March, April, June, August, September, November and December. F travels in the months
having 31 days. There is a difference of three months between the months in which F and C travel according to
the calendar. B travels immediately before F. A travels after H but not in the month of August. H travels in the
month having 31 days. H is not traveling in March or August. The number of people traveling between A and F is
the same as the number of people traveling between D and F. G travels exactly after E. D travels in December. 



How many people are traveling between F and A?

Correct Option - 2

Three1.
Two2.
One3.
Four4.
None5.

Que. 34 A is traveling in which month?

Correct Option - 1

March1.
April2.
June3.
August4.
December5.

Que. 35 Who is traveling in the month of November?

Correct Option - 1

G1.
A2.
F3.
D4.
H5.

Que. 36 Direction: In the question, there are three statements followed by two conclusions I, II & III. You have
to take the three given statements to be true even if they seem to be at variance from commonly known

facts and then decide which of the given conclusions logically follows from the three statements disregarding
commonly known facts.
Statements:
No pens are copies.
Only pencils are copies.
Only few pencils are erasers.
Conclusions:
I. No pencils are pens.
II. Only few pens are erasers.

Only conclusion I follow1.
Only conclusion II follows2.
Both conclusion I and II follows3.



Correct Option - 5

Either I or II follows4.
Neither I nor II follows5.

Que. 37 Direction: In the question, there are three statements followed by two conclusions I, II & III. You have
to take the three given statements to be true even if they seem to be at variance from commonly known

facts and then decide which of the given conclusions logically follows from the three statements disregarding
commonly known facts.
Statements:
Only Girl are Boy
No Girls are Men
Only few Men are Women
Conclusions:
I. Some women are not Girl
II. Some boys may be men

Correct Option - 1

Only conclusion I follow1.
Only conclusion II follows2.
Both conclusion I and II follows3.
Either I or II follows4.
None follows5.

Que. 38 Direction: In the question, there are three statements followed by two conclusions I, II & III. You have
to take the three given statements to be true even if they seem to be at variance from commonly known

facts and then decide which of the given conclusions logically follows from the three statements disregarding
commonly known facts.
Statements:
All Team are Players.
No Teams are Batsmen.
Only few Batsmen are bowlers.
Conclusions:
I. Only few Batsmen are teams.
II. All bowlers may be team.

Correct Option - 5

Only conclusion I follow1.
Only conclusion II follows2.
Both conclusion I and II follows3.
Either I or II follows4.
Neither I nor II follows5.



Que. 39 In the question below are given two statements followed by two conclusions numbered I and II. You
have to take the given statements to be true even if they seem to be at variance with commonly known

facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:
Some Royals are Rajasthan
No Chennai is Knight
All Royals is Knight
Conclusions:
I. No Royals is Chennai
II. Some Rajasthan are Knight

Correct Option - 1

Both I and II follows1.
Only II follows2.
Neither I nor II follows3.
Either I or II follows4.
Only I follows5.

Que. 40 In the question below are given two statements followed by three conclusions numbered I, II and III.
You have to take the given statements to be true even if they seem to be at variance with commonly

known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.
Statements:
Some camphor are rubidium
All bauxite is titanium
All rubidium is bauxite
Conclusions:
I. All rubidium is titanium
II. Some titanium is a camphor

Correct Option - 1

Both I and II follow.1.
Only II follows2.
Only I follows3.
Either I or II follow4.
Neither I nor II follows5.

Que. 41 Direction: Study the following arrangement carefully and answer the questions given below:
5 T @ 1 E F © 2 K L % 5 6 B I M 3 * S T Y 5 $ 9 G J # K A

Which element will be the eighth to the left of the nineteenth element from the left end in the above
arrangement?

%1.



Correct Option - 1

S2.
L3.
#4.
None of these5.

Que. 42 How many such consonants are there in the above arrangement each of which is immediately preceded
by a letter and followed by a number?

Correct Option - 3

None1.
One2.
Two3.
Three4.
More than three5.

Que. 43 If the order of the last 15 elements is reversed, which of the following will be fifth to the right of
twelfth from the left end?

Correct Option - 4

Y1.
K2.
J3.
#4.
G5.

Que. 44 What should replace the question mark (?) in the following series based on the above arrangement?
5 @ E, © K %, ?, S Y $

Correct Option - 4

B M *1.
5 B M2.
G # A3.
​6 I 34.
None of these5.

Que. 45 If all the numbers in the above arrangement are removed, then which element will be the fourteenth
element from the left end?

S1.
Y2.
$3.
%4.



Correct Option - 5

T5.

Que. 46 How many pairs of letters in the word “QUOTERS” have the same number of letters between them in
the word (in both forward and backward directions), as they have in the English alphabetical series?

Correct Option - 5

One1.
Two2.
Four3.
Three4.
More than four5.

Que. 47 Which of the following alternatives is different from the other four?

Correct Option - 3

SUT1.
MON2.
RSQ3.
XZY4.
KML5.

Que. 48 Directions: Read the information carefully and answer the following questions
A certain number of persons are sitting in a row. All of them are facing north. R is sitting 3rd from the

left end. One person is sitting between R and T who is not sitting at any end. Three persons are sitting between T
and O who is not the immediate neighbour of P. L is sitting immediate right of O. Three persons are sitting
between L and N. One person is sitting between N and P who is sixth to the right of L. E is sitting 4th from the
right end. Two persons are sitting between E and K who is sitting at one of the end. Four people are sitting
between K and B. One person is sitting between B and H. Two persons are sitting between S and P. Number of
persons sitting between R and O are equal to the number of persons sitting between S and H. P sits at the left of
S. O is sitting at one of the extreme ends.
How many persons are sitting in the row?

Correct Option - 3

211.
232.
203.
224.
None of these5.

Que. 49 The number of persons sitting to the left of L is two less than the number of the persons sitting in the
right of ___________.

B1.



Correct Option - 3

K2.
E3.
L4.
Cannot be determined5.

Que. 50 What is the position of L with respect to H?

Correct Option - 1

11th to the left1.

10th to the right2.

8th to the right3.

5th to the right4.

None of these5.

Que. 51 If X is sitting 2nd from the right end, then how many persons are sitting between K and X?

Correct Option - 4

81.
32.
53.
Zero4.
25.

Que. 52 Who is sitting third to the right of P?

Correct Option - 1

S1.
H2.
B3.
N4.
None of these5.

Que. 53 Direction: Read the following information carefully and answer the questions that follow:
Eight people – A, B, C, D, E, F, G and H are sitting around a square table (not necessarily in the same

order) in such a way that four of them who are sitting at the corners of the table facing outside while other four
who are sitting in the middle of each of the four sides are facing inside. Two people who are facing the same
direction (either inside or outside) are not sitting with each other. D is not facing inside. G is sitting fifth to the
right of D. A is sitting just opposite to G. E is sitting third to the right of A. B is sitting second to the left of E.
Neither A nor D is an immediate neighbour of C. F is not sitting just opposite to C.
How many people are sitting between B and F, when counted from the left of F?



Correct Option - 5

One1.
Two2.
Three3.
Four4.
Five5.

Que. 54 Who among the following is/are not sitting between C and E, when counted from the left of E?

Correct Option - 5

B1.
D2.
G3.
H4.
Both D and H5.

Que. 55 Which of the following statement is true with respect to H?

Correct Option - 4

Neither A nor E is an immediate neighbour of H1.
H is not sitting just opposite to C2.
G is an immediate neighbour of H3.
H is sitting fifth to the right of F4.
H is sitting third to the left of B5.

Que. 56 What is the position of B with respect to A?

Correct Option - 1

3rd to the left1.

3rd to the right2.

4th to the left3.

4th to the right4.

5th to the left5.

Que. 57 Who among the following are facing inside?

A, C, E, G1.
A, B, C, G2.
A, C, G, H3.
C, E, G, H4.
E, F, G, H5.



Correct Option - 3

Que. 58 Direction: Read the following passage carefully and give the correct answer.
A is the brother of G. G is married to F. L is the father of F.  G is the mother of M. 

Who is the brother - in - law of F?

Correct Option - 1

A1.
M2.
L3.
None of these4.
Cannot be determined5.

Que. 59 How M is related to L?

Correct Option - 5

Daughter1.
Granddaughter2.
Grandson3.
Son4.
Cannot be determined5.

Que. 60 How G is related to L?

Correct Option - 4

Mother1.
Mother - in - law2.
Sister3.
Daughter -in- law4.
Daughter5.

Que. 61 Directions: Study the following information carefully and answer the questions follows:
Twelve people – A, B, C, D, E, F, P, Q, R, S, T and U are sitting in two rows with six persons in each

row. Each person in row one is facing south and each person in other row is facing north. Each person in row one
faces a person from the other row. A, B, C, D, E and F are facing towards north while P, Q, R, S, T and U are
facing towards south but not necessarily in the same order. Q is facing the one who is sitting fourth to the right of
D. Three persons are sitting between A and D while only two persons are sitting between Q and U. P is not sitting
at any of the extreme ends but is facing the one who is sitting immediate left of C. C is not an immediate
neighbour of D. B is sitting third to the left of E but not at any of the extreme ends. S is not an immediate
neighbour of Q. R is not facing to E.
Who among the following is facing to E?

P1.



Correct Option - 4

Q2.
S3.
T4.
U5.

Que. 62 Who among the following is / are not sitting at any of the extreme ends?

Correct Option - 1

A1.
D2.
S3.
E4.
A and E5.

Que. 63 If S is related to F in a certain way, then in the same way who is related to U in the same way?

Correct Option - 1

B1.
C2.
D3.
E4.
F5.

Que. 64 Four of the following five options are alike in a certain way, find out the odd pair?

Correct Option - 4

A and C1.
D and F2.
T and Q3.
P and S4.
Q and R5.

Que. 65 Which of the following statement is not true as per the given information?

Correct Option - 2

Q is sitting third to the left of U1.
Only one person is sitting between A and F2.
P and R are the immediate neighbours3.
A is not an immediate neighbour of B4.
R is facing to C5.



Que. 66 Find the wrong number in the given series.
10, 12, 9, 14, 6, 16, 1

Correct Option - 4

121.
62.
93.
164.
15.

Que. 67 In each of the following number series, the wrong number is given, find out that number.
1, 3, 6, 24, 120, 720, 5040

Correct Option - 2

7201.
32.
13.
64.
1205.

Que. 68 In each of the following number series, the wrong number is given, find out that number.
5, 6, 13, 40, 161, 803, 4837

Correct Option - 3

61.
402.
8033.
48374.
1615.

Que. 69 Find the wrong number in the given series.
50, 46, 55, 39, 63, 28, 77

Correct Option - 4

461.
392.
773.
634.
555.

Que. 70 In each of the following number series, the wrong number is given, find out that number.



420, 429, 426, 437, 432, 443, 438

Correct Option - 5

4321.
4202.
4263.
4384.
4295.

Que. 71 The average weight of girls in a school is 36 kg and the average of boys in the same school is 38 kg.
Girls are twice the number of boys and the difference of weights of girls and boys is 1020 kg, find the

number of boys in the school.

Correct Option - 1

301.
402.
603.
504.
705.

Que. 72 Two articles were bought at Rs. 300 each. After selling these articles, the profit percentage earned on
the first article is equal to the loss percentage that occurred in the second article. If the difference

between the selling price of both the articles is Rs. 150. Find the profit percent or loss percentage on which he
sells both articles.

Correct Option - 1

25%1.
16.66%2.
20%3.
40%4.
33.33%5.

Que. 73 A train can cross a pole in 32 sec and a 420-meter platform in 62 seconds. Find the length of the train.

Correct Option - 3

520 m1.
580 m2.
448 m3.
360 m4.
420 m5.

Que. 74 60% of the students participated in an event. The number of boys and the number of girls participating
in the event is same. Number of boys which participate is same as the number of boys which do not



participated in an event. If 180 girls did not participate, then find the total number of students.

Correct Option - 2

16001.
18002.
24003.
20004.
22005.

Que. 75 The difference between the Compound interest and the Simple Interest on a certain sum of money at
10% per annum for 2 years is Rs. 40. Find the Principal.

Correct Option - 3

Rs. 80001.
Rs. 50002.
Rs. 40003.
Rs. 60004.
Rs. 75005.

Que. 76 Directions: The following bar graph shows the number of children in three different societies (A, B
and C) in two years i.e. 2008 and 2018. Read the graph carefully and answer the following questions.

What will be the ratio between the total number of children in B in the year 2008 to the C in the year 2018?

Correct Option - 3

1 : 21.
5 : 142.
2 : 33.
4 : 54.
3 : 55.



Que. 77 If 25% of the children in B in the year 2008 is girls, then find the number of boys in the same year.

Correct Option - 4

451.
242.
273.
364.
205.

Que. 78 What is the difference of the average number of children in A and C in both the given years.

Correct Option - 5

481.
362.
423.
344.
245.

Que. 79 If in the year 2018, the average number of children in the society B, C and D is 80, then find the
number of children in the society D in the year 2018.

Correct Option - 2

1241.
1322.
1123.
1084.
1025.

Que. 80 Total number of children in C in the year 2018 is how much percent less than the total number of
children in A in the same year?

Correct Option - 4

20%1.
11.11%2.
9.09%3.
10%4.
16.66%5.

Que. 81 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. 6x2 + 5x + 1 = 0



II. 3y2 + 4y + 1 = 0

Correct Option - 5

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y cannot be established5.

Que. 82 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 – 4x + 4 = 0

II. y2 – 5y + 6 = 0

Correct Option - 4

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y cannot be established5.

Que. 83 Direction∶  In the following question, two equations numbered I and II are given. You have to solve
both the equations and give answer.

I. 10x2 + 7x + 1 = 0

II. 6y2 + 7y + 2 = 0

Correct Option - 3

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y cannot be established5.

Que. 84 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 + x – 20 = 0

II. y2 + 4y – 21 = 0

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.



Correct Option - 5

x = y or relation between x and y cannot be established5.

Que. 85 In the given question, two equations numbered l and II are given. You have to solve both the equations
and mark the appropriate answer-

I. x2 + 8x + 15 = 0

II. y2 + 13y + 42 = 0

Correct Option - 1

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y cannot be established5.

Que. 86 A person invests a certain amount of money at 8% per annum for 3 years at simple interest. If the
Invested amount is Rs. 3000, then find the simple interest at 5% per annum for same number of years.

Correct Option - 5

Rs. 6001.
Rs. 3002.
Rs. 5003.
Rs. 4004.
Rs. 4505.

Que. 87 A boy covers a certain distance in 2 hours. If he increased his speed by 15 km/hr, then he reaches his
destination in 24 minutes early than his actual time. What will be his original speed?

Correct Option - 3

401.
502.
603.
704.
805.

Que. 88 The sum of two number is 560. 60% of the first number is equal to the 45% of second number. Find the
difference of both the numbers.

1001.
802.
723.
1084.



Correct Option - 2

1205.

Que. 89 The half of the sum of the ages of A and B is 5 years more than the age of C. The sum of ages of B and
C is 10 years more than the age of A. If the age of A is 42 years, then find the age of B.

Correct Option - 1

24 years1.
32 years2.
28 years3.
22 years4.
36 years5.

Que. 90 The expenditure on the fencing of a rectangular park is Rs. 2700 and the cost of fencing per meter is
Rs. 50. The length of the rectangular park is 3 m more than the breadth, then what will be the area of

the rectangular park?

Correct Option - 4

144 m21.

156 m22.

210 m23.

180 m24.

196 m25.

Que. 91 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 1

2 +   −   =  ?2
3

2
7

8
9

130/631.
140/632.
120/633.
160/634.
100/635.

Que. 92 What value should come in place of the question mark ‘?’ in the following question?

452 – 100 – 252 = ?

12001.
11002.
13003.
17004.



Correct Option - 3

15005.

Que. 93 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 3

+   +     + 12 = 491728
− −−−

√
3 1331

− −−−
√3 ?√

2561.
2252.
1963.
1694.
3245.

Que. 94 What value should come in place of the question mark ‘?’ in the following question?

256 ÷ 23 × ? = 16% of 3000

Correct Option - 4

101.
302.
203.
154.
125.

Que. 95 What value should come in place of the question mark ‘?’ in the following question?

120 ÷ x = 14 × 6 – 43

Correct Option - 2

41.
62.
123.
84.
105.

Que. 96 What value should come in place of the question mark ‘?’ in the following question?
42% of 600 = x – 6% of 300

2341.
2462.
2703.
2844.
2565.



Correct Option - 3

Que. 97 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 4

= 1681 +  ?  + 95 − −−−−−−−−−−
√

901.
702.
603.
804.
1105.

Que. 98 What value should come in place of the question mark ‘?’ in the following question?
√1024 × 11 + 8 × ? = 32 × 16

Correct Option - 4

-301.
 242.
-163.
 204.
-325.

Que. 99 What value should come in place of the question mark ‘?’ in the following question?

Correct Option - 5

=?
−132 72

20

81.
42.
123.
164.
65.

Que. 100 What value should come in place of the question mark ‘?’ in the following question?

122 + 162 – ?2 = 102 × 3

Correct Option - 3

151.
202.
103.
124.
85.
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